Name: Dividing 3 digits by 1 digit - no remainders (Skill 71)
Three digit numbers divided by one digit division (no remainders)

1) 288+ 3= 11) 356 + 4 =
2) 392+7= 12) 588 + 6 =
3) 585+9= 13) 94 - 2 =
4) 248 -8 = 14) 480 + 8 =
5) 480+ 8= 15) 801 + 9 =
6) 105+ 3= 16) 164 + 2 =
7) 144 +8= 17) 468 +~ 9 =
8) 265+5= 18) 255 + 3 =
9) 332+4= 19) 375+ 5=
10) 82 + 2 = 20) 168 + 6 =

Answers, fold under: Mark your work when you have finished.

1) 96 6) 35 11) 89 16) 82
2) 56 7) 18 12) 98 17) 52
3) 65 8) 53 13) 47 18) 85
4) 31 9) 83 14) 60 19) 75
5) 60 10) 41 15) 89 20) 28
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